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Section A, B and C are compulsory for all - Regular, Private and Old A. T. K. T.
students. Please follow the instructions, given in each section. Marks distribution

for all students are as shown in question paper. The blind candidates will be
given 60 minutes extra time.

W ¥ : IS Section A : Objective Reg. 15x1=15/Pvt. 15x1=15/0ld ATKT 15x1=15
1. fAmfafes & & &7 o1 sevde ST 3 '

(1) Fre (7) T Fom (&) HAT (z) Sudtw o |

Which of the following is the function of database :

(a) Creating (b) Inserting (c) Manipulating (d) All,
2. Prfofe # & 17 a1 DBMS %1 oy 2ar 2 - '

(37) R (7) fraft (®) ¥ ()@@ @) (2) ¥ 0 A |

Which of the following is the advantage of DBMS :

(a) Security (b) Sharing (c) Both (a) and (b)  (d) None of these.
3. DBMS Environment & mitw g1 & :  DAVVonline.com

(37) &y (=) siwdux (&) =rer (%) ITd=T vt |

DBMS Environment consist of :

(a) Hardware (b) Software (¢} Data (d) All
4. Pl F & S ar ey wew 1 oW R

(ar) FegfaserT (3) frdersy (/) 3 (1) @& (q) (7) T8 & w7 |

Which of the following is the advantage of Data Model : '

(a) Communication (b) Precision (c) Both (a) and (b)  (d) None of these.
5. ROme swer wisw & swer e WET A G o ¥

(ar) 3 () T @A (N @ @)

In Relational Data Model the data are arranged in the form of : .

(a) Tree (b) Tables (c) Both (a) and (b) (d) None of these.
.. Hierarchical S1eT Afsel # ST A = NT&T 04T ey &

(=) & (7) == (@) (z) st & %5 7 |

In Hierarchical Data Model the data are arranged in the form of :

(a) Tree (b) Tables (¢} Row (d} None of these.

Normalization 7 Stww gt 2 - DAV Vonline.com _

(%) 2aw = e 2T & gam & (&) 27w =1 T ser & g o

(/) &5 =Y sy & HH WO @) 7% @ o A

The poal of Normalization is :

{a) Free tables from redundant data (b) Free tables from irredundant data

(¢) Free tables from data (d) None of these.
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BCNF & Hh"fll g glﬂ'lle (%) Boyce %E;:I:%l Normal Form

a1) Boy Cod Norm orm g |

EB‘)) Boyce Codd Normal Form (3)

e standsﬁfor tal Form _ (b) Boyce ({I.o?—ldin Normal Form
O i e of these.

E:]] I]ic?gce ?Jadd Normal Form (d) None

N - af
0. zifur RAER & Ry %, X - 2 fs it & @) X > Y Y 2

A Y- XM Z-oY 3 T |
EH)X—aYﬂ(Z—)Y ‘o EEF.)W I

In case of transitive dependency, X =Y only (b.) XY and Y2

Ea)) ;{733{(:1?3 g:;’{ (d) None of these.

C

(1) sifdroreer (@) At A (&) AlggETC (@) THARE 7
SQL IS 8 covveivirereerannens language :

(a? Procedural (b) Non Procedural (c) Modular (d) None of theg

11. frfafes # & 217 @1 DDL 8eiiz 78 & : Which of the following is not a DDL statement:

(a) CREATE (b) ALTER ‘
(d) =98 & #Ig 76 | None of these.

(c) INSERT DAVVonline.com
12. DML & aredf 2 _
(a7) zreT orite A (%) =rer AGAIT AT
(&) srer AR drast (=) 30 & =g 7 |
DML stands for . '
(a) Data Management Language (b) Data Manipulation Language
(¢) Data Margin Language (d) None of these.
13. Transaction ¥ property &idt & :
EIE G (@) Ffredr (@) smzETE (z) mft |
The property of transaction is ;
(a) Automicity (b) Consistency (¢) Isolation (d) AlL

14. SQL # transaction Frafafed @edi g0 end (sid) &t B -
(87) Commit Work (3) Rollback Work (7) &4 (a7) @ () (z) g A A i
In SQL transaction are ended by following statement :
(a) Commit Work (b) Rollback Work  (c) Both (a) and (b)  (d) None of thest

15. ffofea & & 1 &1 F authorization FAT9E 2 : Which one is an authorization command:

(a) Allow (b) Grant

(c) Access (d) 39l § & g 7 | None of thes®
e 9 ; ¥y Iy Section B : Short Answer Reg. 5x4=20/Pvt. 5x5=25/01d ATKT
1 7 07 @ ? 2T ud g & wer afc Rfdr |

What is Information ? Write down the difference between Data and Information.

3T OR
T Remd #r gdw & .
T X g | DAVVonline.com

Explain Data Dictionary in brief

2. TS OE O AT Y IR g wHeE |

Explain Entity and Entity Set with example,

Aqar OR

qﬁqa.a?r TRAfT AT oF Iv% gwTc ECIECH
Describe attribute and its types,
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3. Rewifnm i suron g o i |
Describe the concept of decomposition and also explain its properties.

Fyar OR
BCNF %' goamsdt .
Explain BCNF. " DAVVonline.com

4. SQL 7T ¥ ? 38¥ 1w fafad |
What is SQL ? What are its advantages ?
agar OR
SQL % Rfw srr ardw R |
What are different datatypes of SQL ?
5. DBMS # gt $t srauron &7 gREmEd |
Explain the concept _uf transaction in DBMS.
ggar OR
Read w0 smavas ¥ ? wwemsd |

Why recovery is required ? Explain.

@vg § : §d ITHT Section C : Long Answer Reg. 5x10=50/Pvt, 5x12=60/0ld ATKT 5x8=40

1. DBMS # qfomfym | ua za% ad sargdr |
Define DBMS with its functions,

gar OR
faer o §8T F feafr el
(1) STeraw STt &1 yfr
(%) zreEE OF TR | '
Write short notes on the following : DAVVonline.com
(a) Role of Database Administrator

(b) Database and Computer.

2. 2T Afzw &4 & ? SR AiEd & W Faed |
What is Data Model ? Describe types of Data Models.
Fgar OR
RDBMS =1 & ? Codd ¥ 12 sl &1 fafed |
Define RDBMS. Explain 12 Codd's Rule.

3. 4NF = f¥mar @ quanzd |
Explain 4NF in detail.
- aqar OR
3NF #t feqre & gwarsd | )
Explain 3NF in detail.

4. SQL ¥ guery fafdra operators Y fawarogds fafad |

Explain different operators of SQL.

srqar OR

IugE Iareen ¥ grq SELECT wve & fafer & #t wefie fifrg |

With suitable example explain various forms of SELECT Command.
5. erer Fegere A v wr wwwy ¥ 7 S ¥ R s v |

What do you mean by Data Failure ? Explain various types of Failures.

' sgar OR

THRT F2d $T 6N U WHE Ty |

Explain the concept of Access Control and its types.
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